Clue Words...

Adding Multiplying Answer Equal
Add Muiltiply Solve Equals
sum Product I
. : Evaluate S
Increased Of (when it's by itself) . Was
More Times Find Were
Altogether Double (-2) Express H
ave
Plus Triple (-3) Calculate
Total L Model Has
. Half (+3)
Combined - The same as
Twice (-2) Solution
Perimeter T
Area Simplify
7n  T7(6) 7-6
x = variable, NOT multiply
Subtracting Dividing Reverse the Order
Subtract Difference Divide Than
Diminished Taken Quotient From
Fewer Decreased Division Added to
Minus Less Eliminated Average
Deduct Used Distribute Multiplication: Coefficient always comes
Elapsed Passed Has Left Half (2 and reverse the order) first
Remain Exceed Least (per/each) Division: 1°" mentioned goes in
Loss Longer Taller 12/2 numerator, 2" mentioned goes in
Shorter Smaller Bigger

denominator




